Noyno: Berechnen einer unbekannten Zahl

ame: ZR 1000 mUd0 /2

__+ 396 = 411 22 + =321
®®

___ + 456 =535 < 66 + = 465

___ + 588 =653 52 + =841

_ +789 = -

834 % * 87 + 326

634 - ___ =565 4+ 295 = 342
663 - __ =588 73 + 696 =
21 - ___ =119 __+ 344 = 4723
814 - = 748 86 + = 324

www . resursescolare.com




o)

00

[¥p)
"

L
~
\

____-1272 =189

- 76

)
O
O

] 1l
4
o8]

|

+ 67% = 721

54 = 488

+ 466 = 544

O
N
S)
"
N~
[¥p]
00
+

48 = 673

+ 574 = 631

www . resursescolare.com




Noyno: Berechnen einer unbekannten Zahl
ame: ZR 1000 mUd0 /2

75 + 396 = 471 22 + _299 = 321

®®

23 + 456 =535 — 66 + _399 = 465
65 + 588 =653 52 + _189 = 841
45 + 789 = 834 % 4‘ 8+ + _839 =926
634 - 69 = 565 47 + 295 = 347
663 - 75 = 588 +9 + 696 = _115
214 - 95 = 119 19 + 344 = 473
814 - 66 = 148 86 + _£38 = 824
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@ 331 - 82 = 249




